Name:

Precalculus G11-Ch4 HW

Class:

Date:

Indicate the answer choice that best completes the statement or answers the question.

1. Graph ¥

a.

1
= ﬁcsc a8,

=470

-1a0

=270

-1a0

a0
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054
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02 -

011
—m_-lgo0 -0 | 90 _ lso 70 ¢
-2 130 90 o0 10 2 ¢
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Name: Class: Date:

Precalculus G11-Ch4 HW

1
2. Graph y=4 CDtE &,

a ¥ b. v

12 12 H

10 g

g g

£ 6+

41 41

\ R 1+
720 y540 1360 Ll2o L | e s lsan Yo \f a0 549 E60 -804 | 180, 360 540, 720 g

_G -+ -+

_8 H- -+

-0k -1+

-2 -12)+

—Ta0 549 360 =180 4 1 180, 360 540, 720 &
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Name: Class: Date:

Precalculus G11-Ch4 HW

3. Determine the amplitude, period, and phase shift for y = 4 cos{ £- 20%1and use them to plot the graph of the function.
a. amplitude = 1; period = 360°; phase shift = 90° b. amplitude = 4; period = 180°; phase shift = 90°

b »
16 16
14 14
12 12
10 10

I B AAY: FANAY

. — t
a7 -180 -0 -2 a0 180 am ¢ —270 \1_@/ -0 o0 s/ zm ©

-4 )

- -

-5 -

-0 -0

-1z 12

-14 -14

-16 16

c. amplitude = 4; period = 90°; phase shift =360°  d. amplitude = 4; period = 360°; phase shift = 90°

b »
16 16
14 14
12 12
10 10
a &

f
4 4
p /—\ y
=70 <130 =90 =2 Q0 a0 270 g =27 —IW a0 180, 270 &
4 4

- -4

-5 -
-10 -10
-12 -12
-14 -14
-16 -16
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4. Graph y = sec 88,
| U J
a0 —30 a4 0 ISIZI —3!5!] —ETIZI IBIZI —';IIZI_1 | an 180 270 260 '{
-2+ a4
i =+
—4 - -4+
-5+ 54
| U J
a0 =30 ad =0 ISIZI —3!5!2! —ISIZI ad 120 240 é
8 a4+
-3+ 34
-4+ -4t
=5 4 =5+
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Class:

Precalculus G11-Ch4 HW

In the unit circle a point (1,-2) lies on the terminal side of an angle &in standard position. Find the exact value of

cot
5.(2,-4)
a 5 245 5
sin &= £ os &= —i, tan 8= -2, csc &= ~J 5, sec &= ———, cot 8= —l
5 5 2 2
b. 5 2.5
siné'=—§,cnsé‘= w"?,tan =—-=.C == EE§=T,CE¢§=—2
c. | 2./t é
st &= ———, cos = —, tan &= -2, csc B= —i, sec 8= ~J 6, cot 8= —l
fi fi 2 2
d. 2445 5 5
s &= ———— , cos &= —— | tan &= -2, csc &= —i,sec &= 5,|c:|:|1:.:§'=—l
5 5 d a
6. Graph ¥ =Cos™ [_3 x|onthe interval -5 = x = 5.
: \H--}I 1l
R D L R AN
-7 -]
c a |* T '_}I/
_Ij / T T T T 5I -x _Ij T T T IO T T T T 5I x
-] -]
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Name: Class: Date:

Precalculus G11-Ch4 HW

Simplify each expression.

7. €0S X + sin X tan x
a. cot x

b. csc x

C. SeC X

d. —sec x

8. Suppose @ is an angle in the standard position whose terminal side is in Quadrant IV and cot &= T Find the exact

values of the five remaining trigonometric functions of 6.

a. 293 293
sif &= — : , cos &= L , L0 = ———— sec = ——— tan &= Y
207 [o3 2 17 2

b. J293 J293
sih &= — , cos 8= : , C8C = ————— :E -§=—,tan.:§'=—E
i f903 17 2 2

c ~J 293 293
s &= — ) , COs &= 2 , C8C 8= ———— sec = ——— tan &= U
~f 293 ~f 293 z 17 4
d 293 293 17 2
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Precalculus G11-Ch4 HW

9. Graph ¥ =Cos™ [% x]on the interval -5 = x = 5.

-7 -7
c T ¥ d. T __'"/
-5 . 3x -5 . 3x
-7 -]

10. Find the reference angle for 342°.

a. 35° b. 5°
c. 18° d. 162°

11. Find the exact value of csc (-1740)°.

a. b.2

d.

1
Nz

| e
[
(S ]
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1
12. Graph y = T cot - &.

a.

2

=720 =590 =60 -1

12 1
10
8 -+
ﬁ -+
4 -+
2 -+

| 12h 380 sap a0 O

12+
10+
a4
5+
44

2_

720 540 =60 120 |

11120 Y360 1540 TEDY

] 5
13. Find the exact value of tani.

a._.f3 b NE)

c. 1

3

d. undefined

f

|

=T20 540 =60 -1

L 13\360 54\?20 &
»

M
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Precalculus G11-Ch4 HW

1
14. Graph y =11 sec - &.

]
a. UU b. 7

14 4t

12 1

o+ wt

84 84

6+ 6+

4+ 4t

a4 24

—1030 =210 540 =270z L 270 540 210 1020 '9/ —1030 =210 540 2Tl L 270 540 210 1020 '9,-

44 44

&4 %4

a4 a4

=10 + =10 +

Kl 2% e

T 10 =340 —270Lg 4 1030 610 -540 2703 | 270 s4p 810, 1080
_4 4 4
_G 4 4
_8 -+ -+
-4 -1+
124 -11 1
-4 1 -4 1

15. Write an equation of the cosine function with the given amplitude, period, phase shift, and vertical shift.

1
amplitude: 2, period = m, phase shift = — g, vertical shift = -2

1 1 1
& =2 cos (%E—:H)—E b'}-=—_3‘|:|:rs (25'—;5{)—2

i
i

1 1
C'}'=—_?‘|:|:rs. (25'—%5:)—2 d'}'=—3‘|:-:rs (;E—ﬁ:)—z
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Precalculus G11-Ch4 H.W
. I
16. Find the exact value of tanT.
a. ,\E b. 1
3
c.—1 d. undefined
17. Graph y=Sin™ [% x]on the interval -5 = x = 5.
a. T __-"/ b. T ¥
—Ij I IC? 5 x —I5 IO 5 x
-7 -
C. x [* d. \f_r"
5 sy 5 ol 0 s

_JT--

_JT-
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Precalculus G11-Ch4 HW

18. Graphy =3 cnt[é‘— %]

_— N S N I

a. (
f . J Lol !
[ I | / !
/ | / / /
AT /
/ /
f; -zjr 1 4 X / 4 i ,'( y fﬂ
ARRIINREEY )
! / [ ! /
e { ! ! [
I T (
| f | | {
S N U N A T A
ﬁ | 1 l
E | | i
Vol )
| | | \ | |
\ \ \ \ \
\HI* —E\I \I 4 3 — E\I 4
. \ y |
| | ) 1 |
i L | ! n
\ 1 | |
1 | \ | L \
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Precalculus G11-Ch4 HW

1
19. Graph ¥ = 1 tan &,

a.

=270 -lB0 Q005 Lli] 130 270 g

20. Find the value of cnt[cns_l [—%]]

a.ﬁ b._.[3
3
c. .f3 d..f3
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Precalculus G11-Ch4 HW

21. Graph ¥ =Sin™ [% x]on the interval -5 = x = 5.

a. a [* b. T ¥

-7 -

-] -
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22. Find the amplitude of ¥ = L sin &, Then graph the function.

a. .
amplitude:

15

15

C. .
amplitude:

T

Lli] 18}'@/5

15

I
04T
03+
02T
0l

T L

0l+
0z
03+
o4+
05+

9;3 135““-399—‘15'

23. Write .;3 in degrees.

a. 5°
c. 10°

b. 100°
d. 10m°

b. o1
amplitude: 5

05T
041
031
02T
0l

BN

_amir—18n -gnﬁ\_?’l’):_

02
03+
04+
05+

d. amplitude: does not

R
04+
034
D24
D14

T

VAl
ET'EI\‘B

i) a0

exist

iy

LT 1

o1+
0zt
03+
04+
05+

9;3 133“‘\34&*19
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24. Suppose 6 is an angle in the standard position whose terminal side is in Quadrant IV and caot &= ~3 Find the exact

values of the five remaining trigonometric functions of 6.

a.

a.

s &= —ﬁ, cos &= E:BEI , C3C &= —@, sec &= @,tan B= —%
sin &= —%, cos &= :QD csc &= —@, SEC &= ;EJD  fan &= —%
| Ja90
sih &= —ﬁ, cos &= 4790 , CEC &= —#, seC &= ileJIII ,tan &= —%
st &= «ff, cos &= —@, LS &= ﬁ, fEC &= —ﬁ, tan &= —%
25. Graphy = tan[% &+ ;r]
T b- ]
Loy . '|
1 \
T I
/ “\ \
/ / / h, ™ Y
7 x S AN [
: NN E
| f | | \
|' ol '| » |
| f '|
| | |
T O R O
Lo l Lol ]
'| 1 1
/ fors BRN IR
28 0 V4 v AN N
. . / § ¥ 5 N £ \g
| N T
|' ol .
| f |
| | |
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3

a. » b. *Iy J
. il
1

26. Graphy = SE:E:[l &- 2;{]

——
(o)
—

_,_-IL,—'—'_'_'-?J

M
/
ra
<

Find the value of each expression using the given information.

27. If cos €= 0.54, find sin[é'— g]

a. —0.54
b. 0.54

C. &
-8

d.-sin @
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Solve each triangle. Round to the nearest tenth if necessary.

28.

D

E

29. Graph ¥ =Sin™ [—% x]on the interval =5 = x £ 5.

49
a. E=48.0°, F=68.0°, d=23.4
b. E=52.0°, F=75.0°, d=40.5
c. E®75.0° F#52.0° d#40.5
d. E=125.0°, F=70.0°, d=28.3

1*

b.

-
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